MAEREYHEILRBEITO T S5 LEREE (FEBRFMEASEEEEY)
5 I LRER | e | | Do |HEDN Egﬁ*&% g g%ﬁ% iz W
Ck) (B -FE “ ] R3] R4 [ RS [ R6 [ R7

1 |mresm 9.834.94 | SRC |B1-8| S36 | HI9 | 0203 T | H@2~25 | - | - | - | - | -

2 |KkaEmrs 1,462.30 | RC |B1-2| 49 | H20 | 0570 = Ho2 - -1 -7-7-

3 |FLBREHELE— 2,303.68 | RC | 3 | S54 | H2 | 0.724 | FE - - -] -] - |suzaEmts—saz
4 s 214311 | RS | 2 | S55 | H22 | 1.190 | FE -] -] -7 -

5 |sRGAKER 4,289.75 | RG-S | 2 | 55 | H22 | 0.330 | E Hos - -] -] -7 -

6 |<YerhREE 878.78 | RC. S | 2 | S55 | H2f 1.376 | F= - - -] -] - |rEmas

7 |Bxttes-sige - BevesmE® (300579 | RC | 4 | ss4 | M2 | 0313 = Ho7 R LR

8 |WEEABIELE— 188.00 | RC | 2 | S54 | H2 | 0.92]| F= - - -] -] - |uErEers—raz

9 |NBEZABRELE— 21741 RC | 2 | s52 | H22 | 0.888 | FE - - -] -] - [nErErrs—cax
10 |mooi 2,162.16 | RC | 4 | S55 | H24 | 0.660 | FE N e e T TN s
11 |draRes 5975.61 | RC | 3 | S55 | He3 | 0.800 | FE - - -] -] -
12-1 |huds (E—FEw 3,264.00 | S 2 | ss71 | hot 0.450 = Ho6 - -] -] -7 -
12-2 |HuEs EoHED 967.00 | S 1| oss7 | Ha 0.710 | F= - - -] -] -
12-3 |disrmsk (i (75), EEIRMR, SEMRIET) | 4,881.00 | RC | 4 | S56 | H2l 0.615  m(x2) | RiE X2 XHARE 1507
19-4 |irme (ke (B), RO, SIEM) | 4,660.00 | RC | 4 | S5 | H27 | 0.720 | FE - - -] -] -

13 |[EmEsexEnE 5 — 1,359.84 | S 1 | sat | Hs | 02| = | Romaism a1k e Gonm e
14 |1 RED L2 — 1,572.63 | RC | 3 | S54 | H24 | 0.870 | FE - - -] -] -

15 |iFozi 1,605.97 | RC | 2 | S48 | H24 | 0.660 | FE - - -] -] -

16 |mmikeEms 1,703.00 | S 2 | sa1 | W | o20| = *3%

17 |=mEErsre 1,899.07 | RC |BI-5| S54 | H25 | 0.730 | FE - - -] -] -

18 |IBsmdbREnE 2,530.70 | RC | Bl-6| S50 mEE | - | - | - | - | -

19 |wrEes 1,91272| RC | 3 | S45 | H20 | 0.240 = Ra~5 | mat|aeis | auts| - | - [R~semmEsus

20 |gemH 5.837.84 | SRC |BI-7| S56 | HI9 | 0.454 B H19 - -1 -7-7-

21 |manrs 2,562.96 | SRC |B1-5| $52 | Hi2 | 0.552 & H12 - -] -] -7 -

22 |t ysrERTILE 2,071.64 | RC |Bl-2| S42 | H23 | 0.501 | B H23 - -1 -7-7-
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&= M4, ARER | me ma | B |MEEH Tig ) wee | HEXE R3~R7 =
= =1 X)) |E-FE “ | R3] R&e [ RS | R6 | R7
23 |[mE7s—r12 1,810.40 | RC 5 852 — TE (%) - - - - -
24 |NBE7/S— r2EME 2.344.25 | RC 5 S52 H22 rE - - - - -
0. 945 XNo2AD B R E R
25 |[mE7/—r3eE 2,344.25 | RC 5 852 — TE (%) - - - - -
26 |nBE7/—raeeE 2,412.35 | RC 5 $53 — FE (%) - - - - -
e o . XN.ZTOZ BT R = =1
21 |mmEma7 <~ 158 272514 RC | 5 | s48 | Ho = RIE vt kel
28 ﬁ T R_u_ o znﬁﬁ. 2 689 10 RC 5 854 0 400 = (—) 1E~I z%ﬁﬁ;ﬁis $E1§%% ;:#EH
[FERBI 7 /N — k25 , . —_ (%) RTE BRI EA
29 |BFW=TE7/{— MMEE 2,458.25 | RC 5 46 — TE (%) - - - - -
30 [Bu=TET/— M5B8 1,132.52 | RC 4 47 H22 0.859| F= - - - - — N30 LR £ R
31 |BW=TE7/{— 6B 1,132.52 | RC 4 S48 — TE (%) - - - - -
32 |BW=TE7/{— 32 1,878.38 | RC 4 $43 — T (x) | H2THRIASES
33 |BW=TE7/\— 4B 1,858.16 RC 4 S44 — E(x) | HMRIKE XNo.35 DS HTHER &
FWW=TE7/— F2kTE
34 |FW=TE7/\— M52 1,614.58 | RC 3 $45 — 0.380| Z(x) RE B ELTH)
IS E TS AREL
35 |FW=TE7/{— 6B 1,500.32 | RC 5 S46 H10 B | WOk FH
36 |FW=TE7/{— TS 2,008.77 | RC 5 s47 — () | RIUBIE
37 |dENT = r1EE 1,607.58 | RC 5 S50 H21 rE - - - - -
38 |dEINT/A— r2EEE 1,955.63 | RC 5 853 — FE (%) - - - - -
39 |k@En7i—rasem 1,033.98 | RC 5 S54 — TE (%) - - - - -
0. 689 XNo3TDB W R 5 %R
40 |dEINT/S— F8EEE 3,215.14 | RC 5 S54 — FE (%) - - - - -
41 |dENT8— FIEEE 2,571.22 | RC 5 S55 — TE (%) - - - - -
42 |EINT 83— R 10248 2,571.22 | RC 5 S55 — TE (%) - - - - -
43 |BETA— ME 2,359.44 | RC 5 S48 H21 rE - - - - -
44 |BHEET /S— F2ELE 2,359.44 | RC 5 49 — TE (%) - - - - -
0. 697 XNoA3 DLW B % 3 F
45 |AthEET/— 3B 2.834.93 | RC 5 S51 — TE (%) - - - - -
46 |BthEET /S— FELE 1,703.28 | RC 5 S51 — TE (%) - - - - -
AT |HOKRTS— KB 1,608.76 | RC 4 S54 H22 rE - - - - -
0.770 XN AT DB Wi R %
48 |HDOKTIR— F2ELE 1,608.76 | RC 4 $55 — TE (%) - - - - -




